
HANDLE  ACCESSORY

FITTING  INSTRUCTIONS

Umbrella Holder
Scorecard Holder
Drinks Holder
GPS Holder



M6 X 28MM BOLT

M6 X 38MM BOLT

M6 X 45MM BOLT

M6 X 80MM BOLT

WASHER  X 2

WING NUT  X 2

FREEWAY BRACKET

UMBRELLA EXTENSION ARM

UMBRELLA HOLDER BODY

umbrella holder fitting
INSTRUCTIONS

YOUR UMBRELLA HOLDER ACCESSORY KIT 
CONTAINS:

A

B

C

D

E

F

G

H

I

A

B

C

D

E

F

G

H I

COMPACT C2 ACCESSORY BRACKET 
NOT INCLUDED
Your new Powakaddy Handle Accessory 
does not include the COMPACT C2 fixing  
bracket which is supplied in the box with 
the trolley. Find Fitting Instructions on the 
Back Page.

IMPORTANT



1 E

F

D H G

1

FREEWAY

COMPACT C2

FREEWAY



1

COMPACT C2

B

I

E F

2

FREEWAY

B

F

E

Secure Umbrella in Holder by 
tightening top fixing.

*

*

I



2

COMPACT C2

Secure Umbrella in Holder 
by tightening top fixing.

*

*

B

F

E

I



M6 X 28MM BOLT

M6 X 38MM BOLT

M6 X 45MM BOLT

M6 X 80MM BOLT

WASHER  X 2

WING NUT  X 2

FREEWAY BRACKET

EXTENSION ARM

SCORECARD HOLDER BODY

YOUR SCORECARD HOLDER ACCESSORY KIT 
CONTAINS:

A

B

C

D

E

F

G

H

I

A

B

C

D

E

F

G

H

I

scorecard holder fitting
INSTRUCTIONS

COMPACT C2 ACCESSORY BRACKET 
NOT INCLUDED
Your new Powakaddy Handle Accessory 
does not include the COMPACT C2 fixing  
bracket which is supplied in the box with 
the trolley. Find Fitting Instructions on the 
Back Page.

IMPORTANT



1

D

G

FREEWAY

COMPACT C2

FREEWAY



EF
I

A

FREEWAY

3

E

H

2

FREEWAY

F



COMPACT C2

EF
I

A

2

B

E

F

H

COMPACT C2

1



drinks holder fitting
INSTRUCTIONS

M6 X 28MM BOLT

M6 X 38MM BOLT

M6 X 45MM BOLT

M6 X 80MM BOLT

WASHER  X 2

WING NUT  X 2

FREEWAY BRACKET

EXTENSION ARM

DRINKS HOLDER ARM

DRINKS HOLDER BODY

YOUR DRINKS HOLDER ACCESSORY KIT 
CONTAINS:

A

B

C

D

E

F

G

H

I

A

B

C

D

E

F

G

H

I

J

J

COMPACT C2 ACCESSORY BRACKET 
NOT INCLUDED
Your new Powakaddy Handle Accessory 
does not include the COMPACT C2 fixing  
bracket which is supplied in the box with 
the trolley. Find Fitting Instructions on the 
Back Page.

IMPORTANT



1

D

G

FREEWAY

COMPACT C2

FREEWAY



FREEWAY

A

E

F

I

J

3

Slot Drinks Holder Body 
onto the  arm as shown. 

*

*

E

H

2

FREEWAY

F



B

E

F

H

COMPACT C2

1

COMPACT C2

A

E
F

I

J

2

Slot Drinks Holder Body 
onto the  arm as shown. 

*

3

*



GPS holder fitting
INSTRUCTIONS

M5 X 25MM PAN HEAD SCREW X 2

M6 X 38MM BOLT X 2

M6 X 45MM BOLT

WASHER  X 2

WING NUT  X 2

 NUT M5  X 2

GPS BRACKET LEFT

GPS BRACKET RIGHT

EXTENSION BRACKET

GPS HOLDER ARM

GPS HOLDER BODY

YOUR GPS HOLDER ACCESSORY KIT
CONTAINS:

A

B

C

D

E

F

G

H

I

A

B

C

D

E

F

G

H

I

J

J

K

K

COMPACT C2 ACCESSORY BRACKET 
NOT INCLUDED
Your new Powakaddy Handle Accessory 
does not include the COMPACT C2 fixing  
bracket which is supplied in the box with 
the trolley. Find Fitting Instructions on the 
Back Page.

IMPORTANT



GPS Brackets must be 
fitted under the handle 
when using the Freeway 
Model.    Ensure brackets 
are orientated as shown.

*

FREEWAY

FG
H

A

A

1

FREEWAY

B

F

*

COMPACT C2

FREEWAY



Slot Scorecard Holder Body 
onto the  arm as shown. 

*

D

E J

K

FREEWAY

2

*



COMPACT C2

1
*

Slot GPS Holder Body 
onto the  arm as shown. *

D
E

J

K

B



Fitting multiple 
Accessories



Fi
tt

in
g

 m
u

lt
ip

le
 

Ac
ce

ss
o

ri
es

A

B

C

D

E

F

G

I

J

H

M

LK

TO
 F

IT
 M

U
LT

IP
LE

 A
C

C
E

S
S

O
R

IE
S

 
R

E
FE

R
 T

O
 T

H
E

 L
IS

TE
D

 P
A

R
TS

 A
N

D
 

FO
LL

O
W

IN
G

 D
R

A
W

IN
G

S
:

N O

N

O

M
6 

X
 2

8M
M

 B
O

LT

M
6 

X
 3

8M
M

 B
O

LT

M
6 

X
 4

5M
M

 B
O

LT

M
6 

X
 8

0M
M

 B
O

LT

W
A

S
H

E
R

W
IN

G
 N

U
T 

FR
E

E
W

A
Y

 B
R

A
C

K
E

T

U
M

B
R

E
LL

A
 H

O
LD

E
R

 E
X

TE
N

S
IO

N
 A

R
M

U
M

B
R

E
LL

A
 H

O
LD

E
R

 B
O

D
Y

E
X

TE
N

S
IO

N
 A

R
M

S
C

O
R

E
C

A
R

D
 H

O
LD

E
R

 B
O

D
Y

D
R

IN
K

S
 H

O
LD

E
R

 A
R

M

D
R

N
K

S
 H

O
LD

E
R

 B
O

D
Y

G
P

S
 A

R
M

G
P

S
 H

O
LD

E
R

 B
O

D
Y

  

A B C D E F G H I J K L M



FREE



W

A
Y



M

L

K

J
E

F
E

F

D

G

I H

* 
U

S
E

 T
H

E
 S

A
M

E
 8

0M
M

 B
O

LT
 W

IT
H

 O
R

 
W

IT
H

O
U

T 
TH

E
 U

M
B

R
E

LL
A

 H
O

LD
E

R

A
TT

A
C

H
 T

H
E

 G
P

S
 H

O
LD

E
R

 A
S

 S
H

O
W

N
 

P
R

E
V

IO
U

S
LY

*

FREE



W

A
Y

B



COMPACT C2

EF

M

K
L

B

FIT SCORECARD HOLDER 
AND DRINKS HOLDER TO 
RIGHT HAND SIDE 

COMPACT C2



COMPACT C2

E

FB

N

H B

O

IF E

FIT UMBRELLLA HOLDER 
AND GPS HOLDER TO 
THE LEFT HAND SIDE 

COMPACT C2



For help visit www.powakaddy.com/support P/N: 01515-01-01

ATTACH COMPACT C2 
BRACKET AS SHOWN

COMPACT C2

* ORIENTATE BRACKET 
AS SHOWN TO FOLLOW 
CURVATURE OF HANDLE.

*


